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HALF TERM 3

Fractions/Percentages of Amounts (calc/no-calc)

Increase/decrease an amount by a fraction or percentage,
including use of multipliers

Best Buy/Recipes

Unit Conversions/Scale Drawings




VEAR & - DEVELOPING NUMBER. ..
Ivee Fractions & Percentages
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: tO do? : | Percent: ports per 100 — written using the / symbol |
| =——— | | Decimat arumber in our base. 10 numbes system Numbers to the right of the decmal place are called decimals |
| By the end of this unit you shoud be able to: | | Fraction: a fraction represents how many parts of a whoke value you have |
: i CO”V%“ beltg‘ge” FOPlessthanand | : Equivalent: of equal vabe :

more I Reduce: to make smaler in valve
: e |ncrease or decredse Using | : Growth: to increase/ 1o grow :
| m&“”m t : | Integer: vhole number, can be postive, negative or zero |
i L | Invest: use money with the godl of it ncreasing in vale over time (usualy n @ bark) |
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| 100 hordretrs | 1Tf 2 —l 404“{::\@“ il < 7 N e
| owts | e gL /e G
: e e I: a2z Decrease by 587 ': hcrease by 127 |
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YERR 3 — REASONING WITH GEOMETRY. ..
Soling ratio & proportion problems

rhewords
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Proportion: a comparison between two numbers |
Ratio: a ratio shows the relative size of two variables :
Direct proportion: s one varible is multipled by a scale factor the other variabe is multipled |
|
|
|
I
I
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Buythe end of this unit you shouid be abeto: ||
I
| by the same scake factor
|
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« Solve problems with drect proportion :
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|« Use conversion graphs
: y gg:"e Pffb*@m‘sbm'”‘/w proportion lnverse proportion: as one variable. is mutipled by a scate factor the other is dvided by the-
: ve ratio pro
: SRR e same. scale factor.
|
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| Dlrect PfOPOfUOﬂ Ssﬁ osr;e m\f:ftz‘e changes the other changes at o : : Conversion Graphs Compare two variabkes Q :
I & I <« Thsis d ' I
w s a straight Ine because as one variable

: This s & mullplodtie change : | § eo] ncredses so does the other at the same rate |
| \ =< | : = 50 :
l 2N Gears of pop - Co mies To mke corversins belveen unit fra e

. pop = £720 I 0 make conversions between units you need to find { I
| 8 g ’ . 130 Dg : I / point to compare — then find the associated poirt by I

> cans of pop = . ;

| Sometimes this is easiest | | Labeling of . both axes ‘())ng g:%g“ﬂ;}g o aocur |
l The mulipler & the same i you vork aul how much | I hic: Sh?v? I CoNversion hnesmf?eb as a “check” for I
l i the same way that this one unit 1s worth first | | i obtty\s it I
| would be for ratio eg | can of pop = £060 || !
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I lﬂVCfSC P ropo(hon 0s one variable is muttipled by a scake factor the other is dvided by the same scake factor BeSt Have i directly proportional relationship
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Exampkes of inversels proportionsl Tki iondl to G. When T=2 then 6=20 I I
I . is inversely proportiondl to G. To caculate best buys you need to be abe to~— |
relationships +2 X 4 I

I — — I compare the cost of one unit or unts of I
| Time taken to fil @ pool and the I equal amounts I
: rumber of taps nnng T | 2 8 | |
40 I Shop A $owB |
I Tire taken to paint 4 room and the « 5, . | |
P rumber of workers X7 | | 4carsior £120 3 cans for A%p)
| s  _ _ ______x2  +e I l£1.20+4 l£0.93+3|
________________________________ |

—————————————— A o e e i e leans £030  lcans £03
| Draw and interpret sca diagrams Interpret maps with scale factors Costpertem g, 50, i *

0 picture. of a car 1§ drawn with a scake of 130 - 10 - 100 - 1000 Shop Ass the best vabe as it s lp cheaper per
/—\m can of pop
For every km on my imagg. is mmn il L km
30cm in redl ife w ww Shop A
deansfor £120  cans for 13p

X0 x00  x1000
4+ £1.20 l 3+£093
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of bkm 30m Di lem 250m pound cars of pop cans of pop
. q@cm - 300cm¢/ | 250000'\ 250 x 100 = 25000
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4 Shop A s still shown as being the best vaive. but

Th; ;;&rm nreal ife For every km on my map is pay dttention to the unt you are cakulaing per
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& N ¥ Best vale s the most product for the
I e I lowest price. per unit
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What do | need fo be able to do?
You should be able fo :

« Recognise metric measures
Convert metric measures
Calculate with metric measures
« Convert between units of fime
« Understand compound measures
« Work out compound units

Length
The average height

1
1
1
1
+ Milimetres (mm) Jhokentis "
+ Centimetres (cm) o !
* Metres (m) ﬁl-lr 9
|
]
]

« HKiometres (km)

1+ Length: the distance from one point to another :
re Mass: a measure of how much matter is in an object E
» Capacity: the amount an object can contain (usually liguids) :
« Volume: the amount of 3-dimensional space an object fakes up i
1+ Convert: change a value or expression from one value fo another |

Unit: any measurement that there is one of

i Imperial: a system of weights and measures originally developed in England
i « Metric: a system of measuring that replaced the imperial system fo
v fallin line with the rest of Europe
1+ Compound Units: units which require Two fypes of measurement

Speed, Distance, Time

Mass The average S e L T N L e e e R e e e h i o s e = e wRie = = ) o - J
* Grams (g) s el TR I fe s g e S R S e e S e e S e s Sl e e e S = 1
 Hlograms (kg) S0 1 i Length | Bxample | | Bxarple 2 !
+ Tonnes (f) = 'y | | Convert 28400mm fokm 1
! ~ N Convert 123m to mm N
R The average - 1 I I 0 !
Capaoit s | mm K X100 .
pacity wonie T &l cm m m 28400mm = 2840cm
< Millitre (m) \évgéevbm feci "'Iy’ 1 : &_/ u ‘\/ 123m = 123cm I - 1
.+ Lire 0 " @ | . | sg00m - 28 :
N T o, — ot L ¢! [1omm = em | 12%m-1230mm | !
:-l- i _ _I -U- -1-_ ________________ 1 : 100cm = Im REMEMBERI : ntls uiw;u,s helpl:ul 1fo brecks |L° ue hmo : 284 = OOZSLHﬁm 1
I mEzeYIO nl S 1 | Iooom = 'P‘m StmIES '0uU could, of course, IS In One. 1
1 nches ! 1 | = I !
U Length S ekt bttt o ettt v g ekt - g e !
P 2 a® a . am s a el L mseEms=mSessSSEpssmsEsRsREE ST c e E RS ECEESSEST T T 1
1 | |
! [Tneh = 25om] [TFoot - 12 nches| [Tie = 16m] ¢ 1 Mass | xompe | j el | amoe :
11 I One parce! weighs 280g
: 11 I Bavent 1a6o | Convert 15600 to kg l how much wil 12 welgh7l :
' Mass : : ! N/ N | i | o0 Leave your answer nkgs 1
: L g‘\/hg T Juussi- wotg | o gt mgee |
. Iﬁ)unce: 289”| pound = |60unces| ITstone-ILlpoundsl Pl ~—r’ I 41000 | g = 156kg I 3360g :
4 1
: i | | 1498k 14580009 | | ss60g-3%g
| -
' Copacily si-sae | 1 1] 100087 K0 ey | ' ' :
1 1| I000kg = It | I | Sommesmgns
1 o ensure you've rght unls
1 |l pnt = 568ml Inyour exam, yuwilbe guenthe ! e e e e o e e e e e e e e - - — = e s S ol ot C 20 |
: conversion from mefric fo mperial : e e s e s e e s s e T T e e s N e e T Y 1
FETY If needed but it’s dwas useful oy 1 I Example | | Example 2 I Example 3 !
: I gallon = 8 pinfs be familar with them! : : Volume | | need 101 of water | can only :
b e e PO B =Rt | X I ﬁonve” 5000ml fo : Convert 12571 to ml : buy 300m botfles How many
ittt b bl et ifres ?
" 11 N | . bottles do | need to buy 1
' Time AN ml | | wemuitiplyby 1000, | 5 '
: B t‘f : : " i 1000ml = Ilitre I S0 l 10~ 0000 :
1 [Remember </ ! 5000m - Sifres | I 10000300 -333%3. L
'] 60 seconds = I minute | DONT FORGET, Bmnutess ™) 1 1 I | 12571 = 12570l S we need 33333 boltes, !
60 minutes = | hour offen referred fo as a quarfer’, 1 ! j . but ‘t buy 033 of
: - of anhour los B aquarter ) 1! 1000mi = 1 L} i | 5 litres I s s bzﬁrglesgocve n:id to bﬁ to
1 2! hours - | daq of 60) and 30 minutes is 1! ! ! = ' 334l ! I
) LG - Fivech ilaredid s e dito b « b GRS s S o S p oSS S S S ek SRS HESE FagE MRLens e as e
! ' /N
~ /nass ™ —
e _ _i 1Compound Measur : Density, Mass, Voume 7 » : Pressure Forc;. Area -
“Example | Example 2 | Densy i 0 wat of 00K feny vom s & ° Piessirsiindeates
at the amount of mass I oo ™, The amount of force

I
|
Convert 34 days fohours | Reece finishes a sudoku
| puzzle in 354 seconds Daniel
Step | | takes 5 minutes and 20
| seconds Who finished the
|
|
|

| day = 24 hours,
, o quickes?, and by how long?

3 days = 72 hours

REECE - 354 seconds
Step 2

0 ' | 60 seconds = | minufe
Ostozfoodglgqmmh of ins | 300 seconds = 5 minufes
wof aday = 24 hours

| 4
of o day - 96 hours I REECE - 5 mins 54 seconds

| DANEL finished 34 seconds
So 34 days = 816 hours | quicker

contained in a certan volume being exerted per

unit area

The standard units are I'\g/m3 or g/cmj
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: A car travels 200m in 30 I

i minufes, cdculafe fts speed @ @ | ___________ | A'box s placed on a fable an :

: " mphxz 200min 30 mins | The density of air is 13kg/m > | exerts a force of 200N on an !

1 UOOmin 60 mins | Caculate the mass of a baloon which | areaof 40em’ Find the pressure :

o _ H00mph | hots 00035m’of | |
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. ) F ORCE Nt = newlons
PRESSURE= EA

200
PRESSURE i)

It takes Ryan 12 minutes to fravel 15km,

what is his average speed in km/h? MASS = DENSITY X VOLUME

1 1
! |
: I MASS = 13 x 00035 l
1 DISTANCE ot this says km/h Our : . |
1 SPEED = TIME fime s n mnufes right [ MASS = 000455kg |
1 now! 12 mnufes is 02 of

I SPEED = OLFZZ an hour, so instead of 12 I l PRESSURE = 51/cm’
: mins, we wrife fime as | |

1 I I

02 hours

we know the units must be g\g as
the density is gven in kg/m

SPEED = 75km/h



